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0.000
0.397
0.798
1.203
1.612

2.023
2.436
2.851
3.267
3.682

4.096
4.509
4.920
5.328
5.135

6.138
6.540
6.941
1.340
1.7139

8.138
8.539
8.940
9.343
9.747

0

0.039
0.437
0.838
1.244
1.653

2.064
2.478
2.893
3.308
3.723

4138
4.550
4.961
5.369
5.775

6.179
6.580
6.981
7.380
1.7179

8.178
8.579
8.980
9.383
9.788

1

0.079
0.477
0.879
1.285
1.694

2.106
2.519
2.934
3.350
3.765

4179
4591
5.002
5.410
5.815

6.219
6.620
7.021
7.420
1.819

8.218
8.619
9.020
9.423
9.828

2

0.119
0.517
0.919
1.326
1.735

2.147
2.561
2.976
3.391
3.806

4.220
4633
5.043
5.450
5.856

6.259
6.660
7.060
7.460
7.859

8.258
8.659
9.061
9.464
9.869

3

0.158
0.557
0.960
1.366
1.776

2.188
2.602
3.017
3.433
3.848

4.262
4674
5.084
5.491
5.896

6.299
6.701
7.100
7.500
1.899

8.298
8.699
9.101
9.504
9.909

4

0.198
0.597
1.000
1.407
1.817

2.230
2.644
3.059
3.474
3.889

4.303
4.715
9.124
9.532
9.937

6.339
6.741
7.140
7.540
71.939

8.338
8.739
9.141
9.545
9.950

-]

0.238
0.637
1.041
1.448
1.858

2.21
2.685
3.100
3.516
3.931

4.344
4.756
5.165
5.572
5.977

6.380
6.781
7.180
1.579
1.979

8.378
8.779
9.181
9.585
9.991

6

0.277
0.677
1.081
1.489
1.899

2.312
2.121
3.142
3.557
3.972

4.385
4.797
5.206
2.613
6.017

6.420
6.821
1.220
1.619
8.019

8.418
8.819
9.222
9.626
10.031

1

0.317
0.718
1.122
1.530
1.941

2.354
2.768
3.184
3.599
4.013

4.42]
4.838
0.241
5.653
6.058

6.460
6.861
1.260
71.659
8.059

8.458
8.860
9.262
9.666
10.072

8

0.357
0.758
1.163
1.571
1.982

2.395
2.810
3.225
3.640
4.055

4.468
4.879
5.288
5.694
6.098

6.500
6.901
7.300
7.699
8.099

8.499
8.900
9.302
9.707
10.113

9

0.397
0.798
1.203
1.612
2.023

2.436
2.851
3.267
3.682
4.096

4.509
4.920
5.328
5.135
6.138

6.540
6.941
1.340
1.739
8.138

8.539
8.940
9.343
9.747
10.153
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Orange/yellow values are voltages
measured in mV.

Green values are temperatures measured
in degrees Celsius.
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0.000
0.397
0.798
1.203
1.612

2.023
2.436
2.857
3.267
3.682

4.096
4.509
4.920
5.328
5.7135
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6.540
6.941
1.340
1.7139

8.138
8.539
8.940
9.343
9.7417

0

0.039
0.437
0.838
1.244
1.653

2.064
2.478
2.893
3.308
3.723

4.138
4.550
4.961
5.369
5.775

6.179
6.580
6.981
7.380
1.7179

8.178
8.579
8.980
9.383
9.788

1

0.079
0.477
0.879
1.285
1.694

2.106
2.519
2.934
3.350
3.765

4.179
4.591
5.002
5.410
5.815

6.219
6.620
7.021
7.420
1.819

8.218
8.619
9.020
9.423
9.628

2

0.119
0.517
0.919
1.326
1.735

2.147
2.561
2.976
3.391
3.806

4.220
4633
5.043
5.450
5.856

6.259
6.660
7.060
7.460
7.859

8.258
8.659
9.061
9.464
9.869

3

0.158
0.557
0.960
1.366
1.776

2.188
2.602
3.017
3.433
3.848

4.262
4674
5.084
5.491
5.896

6.299
6.701
7.100
7.500
7.899

8.298
8.699
9.101
9.504
9.909

4

0.198
0.597
1.000
1.407
1.817

2.230
2.644
3.059
3.474
3.889

4.303
4.715
9.124
9.532
9.937

6.339
6.741
7.140
7.540
71.939

8.338
8.739
9.141
9.545
9.950

-]

0.238
0.637
1.041
1.448
1.858

2.271
2.685
3.100
3.516
3.937

4.344
4.756
5.165
5.572
5.977

6.380
6.781
7.180
1.579
1.979

8.378
8.779
9.187
9.585
9.997

6

0.277
0.677
1.081
1.489
1.899

2.312
2.121
3.142
3.557
3.972

4.385
4.797
5.206
2.613
6.017

6.420
6.821
1.220
7.619
8.019

8.418
8.819
9.222
9.626
10.031

7

0.317
0.718
1.122
1.530
1.941

2.354
2.768
3.184
3.599
4.013

4.42]
4.838
0.241
5.653
6.058

6.460
6.861
71.260
71.659
8.059

8.458
8.860
9.262
9.666
10.072

8

0.357
0.758
1.163
1.571
1.982

2.395
2.810
3.225
3.640
4.055
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4.879
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To determine what temperature a thermocouple
reading corresponds to:

Find the thermocouple voltage in the table.
Take, for example, 7.304 mV.

Go horizontally across the table to either the
left-most or right-most column. This is the
first part of the temperature reading. For our
example, the closest value in the table is
7.300 mV. Going across to the left or right
column, the corresponding temperature is
170 C. This means that our temperature is
somewhere between 170 and 180 C.

Finally, starting from the thermocouple
voltage, go vertically to the top or bottom
row of the table. Add this number in degrees
Celsius to the number that you obtained in
the pervious step. In our example, the
number in the bottom row is 9 C. Therefore,
the final temperature that we read from the
table is 179 C for a thermocouple voltage of
7.300 mV which is close to the assumed
reading of 7.304 mV.



